18113 Data

240 nm Data Fit 295 nm Data Fit

y = mad+(1/(1+(m0/m1)Am2))*(m... y = m4+(1/(1+(m0/m1)"m2))*(m...
Value Error Value Error
m1 | 0.0075883| 0.00092265 m1 | 0.0065916| 0.00023778
m2 1.0355 0.12181 m2 1.2539 0.052866
m3 -2.9156 0.30484 m3 1.5052 0.19187
m4 10.756 0.64576 m4 25.065 0.35889
Chisq 2.6367 NA Chisq 1.1953 NA
R 0.9947 NA R 0.9993 NA
y = m4+(1/(1+4(m0/m1)"m2))*(m...
Value Error
mi | 0.0078905| 0.00093375
m2 1.3082 0.18917
m3 2.0663 0.29802
m4 -9.1233 0.59048
Chisq 3.1115 NA
R 0.99177 NA | 270 nm Data Fit
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Supplemental Figure 2




